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Questions

A could be any vilid expresion including arithmetic expression relational expression,s
logical expressions.

A set of multiple instructions enclosed in braces is called a block or.

Which Statements is used ot execute not set of instructions, if a particular condition is true
and another set of instructions if the condition is false.

If we want to assocate more than one statements to an if statement, then they need to be
enclosed inside a.

In whihc statement we -specify a condition, and assoclate a code to it.

How many types of selection structure.

The statements which help us to decide whihc statements should be executed next, on the
basis of conditions, are called.

In which control all the statments are executed in the given dequence.

Which of the followingt is the default control structrue in C language.

Which of the following is not a type of control statements in C language.

How many types of control statements

To initialize the array in a single statement, initialize it declaration:
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